Time & Work
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Two pipes P and Q can fill a cistern in 36 and
48 minutes respectively. Both pipes are
opened together, after how many minutes
should Q be turned off, so that the cistern be
fill in 24 minutes?

T UEY P 3R Q FEI: 36 31X 48 fae § ww € o
W HFHA € | S T2l Bl Gier S 8, Q i fre e &
G g L AT AMGT, TIE 2T bl 24 T H o0 -1 9 |
(A) 6 minutes/ e (B) 16 minutes/ fAe

(C) 10 minutes/ f (D) 12 minutes/ fAe

Two taps M and N can separately fill a cistern
in 30 and 20 minute fill a cistern together but
tap A turned off after few minutes and tap 5

minutes. After how many minutes was tap M
turned-off?

T A M iR N 3#e1: 30 81 20 e # sTer-sterm 2ot
T W HHA € | S Tk T Toh! Rl 9T P& L0 € a1 A &
P fife a1k ot =X fean s € @ B o= 9 i 5 faae |
RIAE A FA M i e e o1g sig TR e o ?

(A) 9 minutes/ e (B) 10 minutes/ e

(C) 12 minutes/ (D) None of these

Two pipes A and B can fill a tank in 18 and 24
minutes respectively. If both the pipes are
opened together, then at what time should

pipe B be closed so that the tank is completely
filled in 12 minutes.

T UEY A 3T B T 9@ i HH: 18 3R 24 fFe 7 W)
Hhd 2 | AfE QA IR Rl Tk W e fea S 8, S
=l 12 el o g8 ae 9 w’A & fag, 1159 B &1 feas a7
e ST T BT ?

(A) 6 minutes/ 2 (B) 9 minutes/ fie

(C) 5 minutes/ fe (D) 8 minutes/ fHe

Two pipes A and B can fill a tank in 20 hours
and 24 hours respectively. If the two pipes
opened at 5 in the morning, then at what time
the pipe A should be closed to completely fill
the tank exactly at 5 in the evening?
A A T B, T <okl i SHH: 20 91 24§ H T
2 1 afE T il BT gore % 5 9! Wit & S, i 9 St
5 oS T I JU 9RA o T 76T A 1 e 5% R 3 Fanfen

(A) 3 pm/Tl& (B) 2 pm/TT0&

(C) 1 pm/sE (D) 11 am/ T

Two taps A and B can fill a tank in 10 hours
and 12 hours respectively. If the two taps are
opened at 10 a.m., then at what time (in p.m.)
should the tap A be closed to completely fill
the tank at exactly 4 p.m.?

T A T B, T <oh! ST HHTT: 10 91 12 S H W HHA

F 1 7fE SH1 el @1 10 yatg (LUH.) W Ee fen s,
e 4 TG (. TH. ) W 2T Sl GO A & fa0 7 A =i

o =t (TR H) 98 &2 <A1 91feT
(A) 2 (B) 3
Q) 1 (D) 1:30

Three pipes A, B, C can fill an empty cistern
in 2, 3 and 6 hours respectively. They are
opened together. After what time should B be
closed, so that the cistern gets filled in exactly
1 hr 15 min ?

T W= A, B iR C U @Ielt S i wE: 2, 3 R
6 He T YW EHA © | il gl I Tk W1 e o S |
foha T9E % 1IE T15Y B I s & fo S =nfew, aife
WA Stk 1 e 15 e § s e ?
(A) 30 min (B) 20 min
(C) 45 min (D) 15 min
Two taps fill a tank in 25 minute and 20 min-
utes. But as tap is not opened completely, first

5 2
tap eject 6 part and second tap 3 part of wa-

ter. In how many minutes they can together
fill the tank ?

B) el Weh Soh! 1 SHH: 25 Time 3iR 20 fe & swoera €,
it Tl T 2 T T T o A g
W@% T e | 2 frer e e T
I T W 2

(A) 12 (B) 15

(C) 10 (D) 8
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Two pipes A and B together can fill a tank in 4
hours. B takes 6 more hours than A to fill the
tank if they are opened separately. In how long
time A alone can fill the tank?

T WY A qo B et foreht S8t 1 4 o § ww 3a ¥, afg
3 Y ST ST WA fqU 9, MR A TAH B, A
6 U STfYeF a1 8, A A G0 39 2! 1 WA | foRa
A TM—

(A) 4 hours/ =0

(B) 5 hours/ ®0e

(C) 3 hours/ ¥me

(D) 6 hours/ ®ve

Two pipes A and B together can fill a tank in 5
days. If A fill twice as efficiently as he actually
did and B fill 1/3 as efficiently as he actually
did then, they can fill the tank in 3 days. In
how much time B alone can fill it?

Y IET A 9 B 3 TH W1 FHToR T 2okt 1 5 e & 90 oR
e 1afe 38 A 7 oTut araferes s 9 A e o
Toran Eran TR B 7 STo arEdfaeh &mai o 1/3 & d s
Tean g, @ ot SRt 3 fe B gt oR Sl € 1 A St ey
B 39 3! %1 foha THT H SR HHaT § ?

(A) 25 days/ fea

(B) 18 days/ fea

(C) 15 days/ f&a

(D) 20 days/ f&a

A cistern can be filled by two pipes in 30 min
and 36 min respectively. Both pipes are
opened simultaneously to fill a cistern but due

to obstruction, 5/6 of first pipe and 9/10 of
second pipe is filling the cistern. The obstruc-

1
tion is removed, the cistern get filled in 155

min from that moment. After how much time
the obstruction was removed?

T 1 foReit Sk Rl eI 30 fie oiR 36 foe § sRwesd
F 1 S il 1 Wk W1 el T W esTd 9 € 3
T I9E ¥ TR A ¥ 5/6 U R € oK g
AW 9/ 10 YT T E | T TR i Siek L fean 7

# sife e e 35 15 firee 4 9 s 9
fohan TF 9I1g TSl i STeh T o T |

(A) 1 min./fFe

(B) 2 min./fH7e

.
A~ min.

2
(D) 3 min.

(€)

11.

12,

There are three pipes A, B and C which can
fill a tank in 10 hours, 15 hours and 20 hours
respectively. All the three pipes are opened
simultaneously. It was found that pipes A and
B were supplying water at 4 /5% of their normal
rates for the first 2 hours after which they
supplied at their normal rate. Pipe C supplied
water at 3/4% of its normal rate for the first 3
hours, after which it supplied at its normal rate.
In how many hours would the tank be filled?

THIET A, B $iR C T &% &I %A% 10, 15 &R 20
FeH R B | A TR T T Ere el S R | e
H2WeA RB T A W H 4 /5 VT & 13TH
qE = AT AT X Y W TRYT C 3 IR & 3 5
ST WM Xk 3/4 W R0 3HH 918 ST I X H
W | FoRa wve | 3o U W SR

5
(&) 955

6
(B) 655

5
©) 255
(D) 5

Pipes A, B and C together can fill a cistern in
12 hours. All the three pipes are opened to-
gether for 4 hours and then C is closed. A and
B together take 10 hours to fill the remaining
part of the cistern. C alone will fill two-thirds
of the cistern.

YT A, B 3R C T & o fieiet 12 S H T Tahd 2 |
AT TRl T T W 4 SIS o ferg @i St § $fi fR C
I oig L e ST e | A SR B w1 et 3 o 319 9 i
A H 10 5 T E | C 3That S o oI-Taer st =t fofe
T H WA ?

(A) 40 hours/ =<

(B) 48 hours/ ®<

(C) 60 hours/ ¥

(D) 50 hours/ ®e
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13.

14.

Mother's Arithmetic * Time & Work

Pipes A and B are filling pipes while pipe C is
an emptying pipe A and B can fill a tank in 72
and 90 minutes respectively. When all the
three pipes are opened together, the tank gets
filled in 2 hours. A and B are opened together
for 12 minutes, then closed and C is opened.
The tank will be empty after :

ST A ST B 2! I WA 1t W9 €, TR s’ C 2! i
T A AT TR | A SR B o &1 A 72 3R 90
e o sRuehd € | STa diF aIg i ol ek e Siell S e
et 2 Fe H RS T 1739 A TR B 1 12 fifTe % fer uw
e e S g, o S 98 e MY C ®1 Al e |
2t fora T9E H @t 81 et ?

(A) 15 minutes/ T4

(B) 18 minutes/ f#e

(C) 12 minutes/ fe

(D) 16 minutes/ fe

Pipes A and B can fill a tank in one hour and
two hours respectively while pipe C can empty
the filled up tank in one hour and fifteen min-

utes. A and C are turned on together at 9 a.m.
After 2 hours, only A is closed and B is turned

on When will the tank be emptied?

2T A 3R B A T He RS 5 H U T W HSd ©
T Weq C R U SF & U 5 IR vge fame o @t
HHAE 1A SR C H 9 a.m. T TH T =1 fhan S g |
2 ¥ % 98, Had A 1 9% R & T € TR B R = R
e T ® 1 3% et @t T ?

(6 June 2018 - Shift : I)
(B) 11:30 a.m.
(D) 12:20 p.m.

(A) 12:10 p.m.
(C) 10:30 a.m.

15. Pipes A and B can fill a tank in 10 hours and 40

hours, respectively. C is an outlet pipe attached
to the tank. If all the three pipes are opened si-
multaneously, it takes 80 minutes more time
than what A and B together take to fill the tank.
A and B are kept opened for 7 hours and then
closed and C was opened. C will now empty the
tank in:

EY A 3R B T ¥ s 10 5 SR 40 S H X Hha £ |
C 3% ¥ g1 g7 T STRecie UY § | afk weft i wrsdi =
T T WA ST 8, 1 A 81 B g faeat S &t 3 o
T S T | 80 AR sifeer wra Tl 1 A sTRB i 7
e T @il S & SR R s & fen i € o7k C w1 e
fean S € | C o191 ok o fora e | wrelt R R 2

(A) 42 hours (B) 45.5 hours

(C) 49 hours (D) 38.5 hours
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1.(B)
2. (A)
3. (D)
4. (A)
5. (B)
6. (A)

Mother's JBIVE « A9d 3R BRf

Answer

P can fill the cistern in 36 minutes, so in 1

1
min, P can fill the cistern = —— th part

36
. ) 24 2
In 24 min, P can fill the cistern = — = — rd
) 36 3
Remainder part =1 - 3" grd

As Q can fill full cistern in 48 minutes, so it

will will 1/3rd part in 16 minutes.

Let M was turned off after x min. Then, cis-
tern filled by M in x min + cistern filled by N
in (x +5) min. = 1
X (X + 5)
=30 " 20
= 5x+ 15=60
= X =9 min.
A — 18 min — 41
B — 24 min — 31

Let total capacity of tank = 721
To fill the tank in 12 minute

=1

A = 48 1
Remaining = 72 -48 =241
It will be filled by B

24 .
B= ? = 8 minutes
6A —> 2

O]120

5B—> 24

Pipe B 5 am to S pm total time = 12 hour
total work 12 x 5 = 60
Remaining work 120 — 60 = 60

60
Pipe A work = 5 =10 hour or 3 pm

10 AM to 4 PM total time to completely fill the tank
=6 hour
Tap A closed = - + -2 =1

ap Aclosed = — =+ 15 =

36-6x+30

60
6x =6
x =1hour or 3 PM
A—>2\3

B—s3 —2>6
c—>6

7.

9.

1 hr 15 mi —12—11—§h
r15min = 1oo=1-=7 hr
A+C

_ A+B+C

(B)

D)

(A)

t time time

(3-1)

5
ATQ, 3+ 2+ 1)t+(z—tj B3+1)=6

6t+5-4t=6=>2t=1
1
t=§ hr or 30 min.

L.C.M. of 25,20 =100

(Let total 100 crock are to be filled)

time 1 hour work (efficiency )

100
25

0
o0 > croc

1 minute work of first tap when partially opened

_b5 10

6 3

1 minute work of second tap when partially opened

first tap 25 minute = 4 crock

second tap 20 minute

= 5><—=—

20
— crock

1 minute work of both the taps = 3

total work
1 minute work (efficiency)

.. total time =

100
T 20

3
Let pipe A takes x hours to fill the cistern.
The pipe B takes (x + 6) hours to fill the same
cistern.

=15 minute

1 1 1
. — 4+ = =
Pipe A and B together fill [x X+6j 4 of

the cistern in 1 hr.
4x+6+x) =x(x+6)
8x + 24 =x2 + 6Xx
x2-2x-24=0
x-0)x+4)=0
X=6

1
10. (A) Net filling in last 155 min.
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11. (A)

12. (A)

Mother's Arithmetic * Time & Work

E[L+L]_341
2130 36) 360

suppose they remained clossed for x min.

Net filling in these x min.

[x 5 x 9] 19x
ZxT i x= ===
30 6 36 10 360

19x 360 -19x _

341

R . -1-
emaining part 360

360
x=1
A + B fill then tank in 2 hr
ixg[i+ij_§xi_i
=5 10 15) 5 10x15 15
C fill the tank in 2 hr
3 1 3

=2%3 %% ~ 20

emaining = 1. AL _ 79
emammg = — 120 =

1 hr. all three work = — + — + -~

6+4+3 | 13

60 60
79 60 79

120 * 13 T 26
total time =2 + 3.03 = 5.03

= 3.03

A+B+C > 12
k in four h = 1
work in four hours —» 15 - 3
. 1 2
Remaining work — 1 - 373

2
:>A+B—>§ —10x3 —» 15

2
12x15 12x15
= C=li5-12) = 73

360

2
= Time taken by C to fill 7 of the cistern

3

2
=60 x 5 =40 hours

13. (B)

14.(D)

15. (C)

A—> 72
I~
B—> 90 360

3
A+B+C —> 120
A+B+C-A-B=3-9=-6
=C'=6
(A+B),=9x12=108
108

Time, = — = 18 min.

6

A and B works together then

A—10
4

40

B—40

. 40
Time = ? = 8 hrs.

1
A, B and C works together and take 9§ hr

A+B —8

56

6
A+B+C—>2—§'

= — 1 unit
A and B work for 7 hours then
=7 x 7 =49 units

So, Pipe will take 49 hrs to empty the tank.
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